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() EYERFEEDOEE
< LNGF 80 A ffFg > < LPGF 58§ A ffi#& >
63,310 (A/%.) X 0.9576 + 72,040 (/%) % 0.0466 = 63,982.720 (/".)
= 63,980 (H/".) XI0OMRBEMBZHEA

(2) TR BHTAE L4 T[RRI O 28 (RS LB OFE

< EAEFHRFMEE > < REEHEE >
83,350 (H/%.) - 63,980 (H/*.) = 19,370 (H/*.)
= 19,300 (A/".) X100ARBETET
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< RIS B EE > <HEBE>
19,300 (FH/*.) X 0.081 (F/m) - 100 (/") X (1 4+ 008) = 1688364 (FH/m)
= 16.89 (A/m) NN ESRUTEY LT

(4) Rt ERE R (F2) DHEE (—RAREIBHIR HERBOESE)

<EHEHEHE> <fEBH S Bz EE>
165.96 (F1/m) — 16.89 (H/m) = 149.07 (A/m)

(B &) ERINEI1ABHTORENEEMEDLLE
<ER3IFE2AOREHEBIE> <ERIIFEIAORSHEBIH>
149.07 (A/m) - 147.23 (A/m) = +1.84 (A/m)
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<EXpE> <fERP LI > <AREAE>
1,560.00 (M/A) +  149.07 (A/m) X 31(m/8) = 6,181.17 (A/R)
= 6,181 (MH/A8) XIMERBZEYIET
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